0. Le chant des oiseaux

(Part 1: Reveillez-vous, coeurs endormis - Clément Janequin)

Francesco da Milano
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1) finorig.
2) con 4th coursein orig.

Rudolf Wyssenbach Tabulaturbuch uff die Lutten (1550), f.34v. Encoded and edited by Sarge Gerbode.
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Part 2 - Vous aurez a mon avis
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1) Note one course lower, which isimpossible.
2) g on 3rd course, which isimpossible.
3) Note one course higher in orig.
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2) 3 rhythm flags Y2 value in orig.
3) Rhythm flag double value in orig
4) 2 rhythm flags double valuein orig.

1) hinorig.



Part 3 - Rossignol du boisjoli
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5)

1) 2 rhythm flags double value in orig.

2) 4 rhythm flags double value in orig.

3) Note one course lower in orig.

4) cin orig. (oversrike missing)

5) aon 4th course in orig. (cipher upside down).
6) Note one course lower in orig.

6)
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1) 2 notesk in orig.

2)dinorig.

3) 2 notesbin orig. (overstrikes missing).

4) einorig.



Part 4 - Arriére, maitre Cocu
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2) Note one course lower, which isimpossible. Same in next bar.

1) aon 4th course, which isimpossible.



